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Reasoning for SSC CGL – (Solutions) 
 

S1. Ans.(c) 

Sol. R > Q > P > S > T 

S is the second last in the descending order of height.  

 

S2. Ans.(a) 

Sol. ‘LIAR’, There is no. ‘R’ in the given word.  

 

S3. Ans.(d) 

Sol. ‘OBSESS’ ; There is no ‘B’ in the given word.  

 

S4. Ans.(b) 

Sol.  

 
 

S5. Ans.(d) 

Sol.  
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S6. Ans.(d) 

Sol.   

 
 

S7. Ans.(c) 

Sol.  

 
 

S8. Ans.(d) 

Sol.  

 
 

S9. Ans.(a) 

Sol.  

 
 

S10. Ans.(d) 

Sol.  

 
 

S11. Ans.(b) 

S12. Ans.(a) 

S13. Ans.(b) 

S14. Ans.(c)  

S15. Ans.(b) 

S16. Ans.(c) 

S17. Ans.(c) 

S18. Ans.(c) 
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S19. Ans.(d) 

Sol.  

 
 

S20. Ans.(c) 

Sol.  

  
 

S21. Ans.(b) 

Sol.  

 
 

S22. Ans.(d) 

Sol. Neither I nor II follows 

 

S23. Ans.(d) 

Sol.  

 
 

S24. Ans.(c) 

Sol. R → 3, O →4 , T → 9, E → 7  

 

S25. Ans.(b) 

Sol. (4 × 3) + 5 = 17 

(8 × 2) + 4 = 20  

Similarly, (5 × 3) + 5 = 20  
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